# **BLUEPRINT ELECTRIC**

## ELECTRICAL INVOICE

**ESTIMATE** 

DATE

#### WORK SITE LOCATION

EDUARDO BANUELOS

Blueprintelectric.ca@gmail.comm

(323)404-4060

CLIENT

Chris V

		8-15-22
12960 Lemay St, North Hollywood, CA	WORK START	WORK END
	ESTIMATE	CUSTOMER ID ID

MATERIAL	QTY	UNIT PRICE	TOTAL
200-amp Siemen 20 Spaces 40 Circuit Main breaker Meter Combo Load Center	1	\$760.00	\$760.00
New Wiring 3/0 Copper wire (Hot) 3/0 Copper wire (Hot) 3/0 Copper wire (Hot)	15 15 15	\$6.20 \$6.20 \$6.20	\$279.00
Rigid conduit 2"	1	\$154.80	\$154.80
2" Hub	1	\$17.90	\$17.90
2" Rigid Service entrance wire holder	1	\$15.90	\$15.90
Rigid service head	1	\$22.86	\$22.86
Rubber tape	1	\$9.60	\$9.60
3/0 Splice bolts	3	\$30.30	\$90.90
2" Roof jack flashing	1	\$ 16.77	\$16.77
Roof waterproof sealant	1	\$43.63	\$43.63
2" Bushings	N/A	\$8.98	N/A
Strut channel	1	\$35.00	\$35.00

#### **DESCRIPTION OF WORK**

Remove existing 100-amp service and replace with 200 Amp Siemen breaker outdoor box. Remove and install new outlets according to the NEC and local regulations. Install tampered resistant outlets and GFCI breakers for the rooms and living room. Remove outlet wiring and install new plastic boxes with romex. Junction boxes for outlets will be underneath the crawl space. Outlets for rooms and living room will be on one dedicated breaker. The lights switches will also be on another breaker (changes may apply if shared circuits with other devise).

Close opened junction boxes underneath the crawl space and on the outside of the house inside the enclosed closet for existing junction box.

Remove corded connection coming from the panel to the AC Unit and provide proper wiring for the unit with dedicated breaker.

2" Strut straps	3	\$7.23	\$21.69
Hex bolts 3/8	15	\$1.28	\$19.20
3/8 Washers	15	\$0.92	\$13.80
Ground rod	2	\$75.51	\$151.02
Grounding connectors	2	\$10.15	\$10.30
Ground clamps	4	\$16.04	\$64.16
Ground #4 wire	100'	\$3.16	\$316.00
Intersystem bonding bridge	1	\$40.54	\$40.54
15-AMP Breakers	N/A	\$9.98	N/A
20-AMP Breakers	9	\$10.45	\$94.05
20-AMP GFCI Breakers	3	\$83.15	\$249.45
2 Pole 20-AMP	1	\$24.83	\$24.83
2 Pole 40-AMP	1	\$30.02	\$20.02
Replace/Add Outlets			
15-AMP tampered resistant			
outlets and switches		<b>*</b> 4 <b>* *</b>	¢171/
Room 1 (4 outlets) Room 2 (4 outlets)	4	\$4.29 \$4.20	\$17.16 \$17.16
Hallway (2 outlets)	4	\$4.29 \$4.29	\$8.58
Living room (6 outlets)	6	\$4.27	\$25.74
Room 1 switch	2	\$3.95	\$7.90
Room 2 switch	1	\$3.95	\$3.95
Hallway switch	2	\$3.95	\$7.90
Living room switches	2	\$3.95	\$7.90
Garage GFCI	2	\$26.54	\$53.04
Cover plate Single Gang	23	\$1.15	\$26.45
Junction box 1-Gang	23	\$4.80	\$110.40
Romex 12/2 (250')	1	\$175.00	\$175.00
¾ EMT Conduit	5	\$16.36	\$81.80
3/4 EMT Conduit Fittings	12	\$5.15	\$61.80

EST	IMATED TO	TAL MATERIALS	\$5,437.38	
Inspection for 200-AMP	1	<mark>\$600.00</mark>	<mark>\$600.00</mark>	
			<mark>\$1,315.79</mark>	
1 ¼ LB	1	\$29.22	\$29.22	
1 <sup>1</sup> / <sub>4</sub> Flex connectors	2	\$7.04	\$14.08	
1 1/4 Flex	1	\$288.80	\$288.00	
1 ¼ straps	14	\$1.15	\$16.01	
1 <sup>1</sup> / <sub>4</sub> Grounding connector	2	\$9.33	\$18.66	
1 <sup>1</sup> / <sub>4</sub> Raintight Connectors	4	\$5.20	\$20.08	
1 ¼ Conduit EMT	1	\$44.74	\$44.74	
#4-AWG #4-AWG # 6-AWG	50' 50' 50'	\$2.76 \$2.76 \$1.82	\$505.00	
#4-AWG	50'	\$2.76		
100-AMP Sub Panel	1	\$380.00	\$380.00	
			<u></u>	
			<u>Tax 9.5%</u>	
		ψ00.7 Ζ	\$3,216.07	
Flex Coupling Flex conduit	1	\$3.05 \$50.72	\$6.10 \$50.72	
LB Fitting	1	\$9.60	\$9.60	
8x8 Junction box	1	\$43.21	\$43.21	
Junction box for crawl space	e 2	\$7.86	\$15.72	
Junction Boxes for attic	2	\$7.86	\$15.72	

#### **TERMS AND CONDITIONS**

LABOR

- 2. Blueprint Electric stand all their work. If any p with service comes u us. (323)404-4060
- 3. Both parties are entitle filled-out copy of agre Sign by homeowner a contractor.
- 4. By signing the homeo agrees to everything the contract.
- 5. If there is a change of revision will be sent b by phone.
- 6. If not stated in the co not included.
- 7. Deposits are final.
- 8. Cash, Check, Zelle, V Crypto etc.
- 9. Payment will be recei 30 days of signed per
- 10% sales increase fo week late
- 10. Any additional items, added will be charge added to the original
- 11. If the job is over 5,000 progress payments m added.
- 12. Meter spot to be requ before starting of the meter spot is not in th location of the origina price will be shifted a the Local Utility power
- 13. Breakers and Nema a



	Electrician	20	\$150.00	\$3,000.00
<ol> <li>If more services are requested or any other services, it will be</li> </ol>	Journeyman	48	\$85.00	\$4,080.00
priced per item and be calculated and added to the	Electrical Apprentice	48	\$50.00	\$2,400.00
priced charge. 2. Blueprint Electric stands behind				
all their work. If any problems with service comes up contact us. (323)404-4060				
<ol> <li>Both parties are entitled to a filled-out copy of agreement.</li> </ol>	Subpanel Installation			
Sign by homeowner and contractor.	Electrician	5	\$150.00	<mark>\$750.00</mark>
4. By signing the homeowner agrees to everything stated in	Journeyman	5	\$85.00	<mark>\$425.00</mark>
<ul><li>the contract.</li><li>5. If there is a change order. A</li></ul>	Electrical Apprentice	5	\$50.00	<mark>\$250.00</mark>
revision will be sent by email or by phone. 6. If not stated in the contract it is				
<ul><li>not included.</li><li>7. Deposits are final.</li></ul>				
<ol> <li>Cash, Check, Zelle, Venmo, Crypto etc.</li> </ol>				
<ol> <li>Payment will be received within 30 days of signed period</li> </ol>				
<ul> <li>10% sales increase for every week late</li> </ul>				
<ol> <li>Any additional items, material added will be charged and added to the original price.</li> <li>If the job is over 5,000.00 progress payments may be</li> </ol>				
added. 12. Meter spot to be requested before starting of the job and if meter spot is not in the same location of the original panel the price will be shifted according to the Local Utility power company.		ESTIMATED TOTAL LABOR		
13. Breakers and Nema outlet not			SUBTOTAL	\$16,342.38
				10%
THANK YOU	•	enter total amou	nt <b>DISCOUNT</b>	(\$1,634.23)
FOR QUESTIONS CONCERNING		Af	ter Discount	\$14,708.14
THIS ESTIMATE, PLEASE CONTACT				
EDUARDO BANUELOS			Deposit	\$1,000.00
(323)404-4060	AUTHORIZED SIGNATURE			
BLUEPRINTELECTRIC.CA@GMAIL.C			OTHER	
WWW.BLUEPRINTELECTRICCA.COM		ESTIN	ATED TOTAL	\$13,708.14

HOURS

RATE

TOTAL

### WHAT WE OFFER IN BLUEPRINT ELECTRIC

What we offer is security, trust, safety, and reliable service.
Provide a report and instructions on how to use it.
We offer financing for projects over \$2,000.00
Fully Licensed, Bonded, Insured and worker's comp
Certified by ChargePoint, INC. (ChargePoint University)

- CPF50 P/W INSTALLATION(EN-US)
- CHARGEPOINT HOME FLEX(CPH50) INSTALLATION
- CHARGEPOINT EXPRESS 250 STANDALONE INSTALLATION
- CHARGEPOINT CT4000 SERIES INSTALLATION
- CHARGEPOINT EXPRESS 100 INSTALLATIONS
- CHARGEPOINT EXPRESS 200 INSTALLATIONS
- CHARGEPOINT EXPRESS 250 PAIRED INSTALLATIONS